HATE £ 2024.9.3 13:40
=AM
BEfE4AEH B :20234£08 A 27H (H)
B I T AT o
SN BN &SN AEHS0A
JEAT SNE K4 OUT | IN | GROSS | HDCP NET | GROSSJIE{:: ik
1 |PaH ZF— 48| 43]  91/21.0 |70.0
2 |%H ] 45| 44| 89/18.0 |71.0
3 \PHEE FEAT A7) 39/ 86/15.0 |71.0
4 NP H 39| 41/ 80| 9.0 |71.0
5 \&ZRE R 44| 46/  90/18.0 |72.0
6 mA fEZ 51| 45| 96/23.0 |73.0
T \VERT 1 42| 49 91]18.0 |73.0
8 | F-HF fi# 38| 43| 81| 8.0 |73.0
9 W EE 420 39/ 81| 8.0 |73.0
10 Ak #5 A 44| 42| 86/13.0 |73.0
11 | FEH SCHA 43| 46/  89]16.0 |73.0
12 \ &2 & 48| 46|  94/20.0 |74.0
13 |12k ==— 46| 40| 86/12.0 |74.0
14 g =4, 44| 39| 83| 9.0 |74.0
15| H SRR 43| 41| 84| 9.0 |75.0
16 K& K& 52| 46| 98(23.0 |75.0
17 |2 H %K 44| 49]  93]18.0 |75.0
18 |Z= M A 46| 42| 88/13.0 |75.0
19 | J7H £ 44| 43]  87/12.0 |75.0
20 |IA N F ] 48| 41| 89/14.0 |75.0
21 Al E+ 59| 59| 118/42.0 |76.0
22 W B 42| 42| 84| 8.0 |76.0
23 kT T 44| 42|  86/10.0 |76.0
24 | AR (R 51| 45| 96/19.0 |77.0
25 | EAR HET 51| 52| 103/26.0 |77.0
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BEfE4AEH B :20234£08 A 27H (H) ﬁﬁﬂ:
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SN BN &SN AEHS0A

JEAT SNE K4 OUT | IN | GROSS | HDCP NET | GROSSJIE{:: ik
26 |"ZH @Kk 44| 46/ 90/13.0 |77.0
27 E BT 51| 49/ 100/23.0 |77.0
28 | Bl E 3% 45| 46]  91[14.0 |77.0
29 [KEF A 46| 47/ 93/16.0 |77.0
30 | ANl BT 40| 44| 84| 6.0 |78.0
31 H fit 48| 52| 100(22.0 |78.0
32 Y ER 48| 52/ 100(21.0 |79.0
33 [ & 44| 44| 88| 8.0 [80.0
34 |3 AR 57| 55| 112(32.0 |80.0
35 =B Fnd 52| 50/ 102/22.0 |80.0
36 |fRIVE HLJER 47| 46)  93/13.0 |80.0
37 Rl == —ER 46| 44|  90/10.0 [80.0
38 | FHI; E 50/ 50| 100/19.0 |81.0
39 | 5LE 56| 50/ 106/25.0 |81.0
40 | 7)1l 2R 56| 55| 111[29.0 |82.0
A1 W[ I8 52| 50/ 102/20.0 |82.0
42 V4 Mg Al 53| 53| 106/24.0 |82.0
43 | flRHE FF—HR 50/ 51| 101/19.0 |82.0
44| ZFnHE & 55| 55| 110/27.0 |83.0
45 | Fr#F [BIOKAR 55| 50/ 105/21.0 |84.0
46 | dbAT A= 54| 51| 105(21.0 |84.0
47 I =15 50| 55/ 105/19.0 |86.0
48 | &A% B 52| 48| 100/12.0 |88.0
49| ER)I 58| 52| 110/12.0 |98.0
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